Puzzle 9315 - Saturday, 12 July, 2014 - Difficulty 10

2198|7153 |64
éé ’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’’ 1’(’)1’,’:‘ | {’5’::’: éb’::":f::f::f:
'3|5|6|2) 49871,
K A e . S EE
714813 /6]912]5,
6 | 4519 7]28]|3
’2’3’,’:”,’::;,:::} ié’:”ffffffjfjffff{’éé”" ——————
18|23 |6 |47 5|9
| i i’z’iiii z’o’iiiiiiiiiii,iiiiii i’g’:::i i
9 | 375 |8|24|1|6
[ 7T T T [
812 314511697
% i ;é’f::”{s’ii’,,i:::‘ : i 41’;’5, ,iiiiij} ’7’,::; : i
5117191612 13[1)4]8:
i 11 i éb””,ffffff,:ﬁ,’fﬁ, ——— i : ;
' 416(1]19|7|8|5{3]2:

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Copyright (c) www.dailykillersudoku.com




